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PART - 111
cuewflss GSGBUﬂg)m LDE)Q]LD qmerﬂuﬁlu_la)
B[LSINESS MATHEMATICS AND STATISTICS

(5D WHDID ki aulfl / Tamil & English Version)

2| 1]4]s |

BT Sjemey :'3.00 wenfl CrwW ] [ Qurgs wdHubuemrser : 90
Time Allowed : 3.00 Hours ] [Maximum Marks : 90

Sidleyenrset : (1) ymarsg) dlarrésEpd sflurs uferd o draTsT raTUsmeT
#fluriégé Qararereyn. @Fsiudelan Ganumrider @mné
samaramiuureriiLib o L anqwrss Osfeléseyb.

(2) Beod Sd@g smLUY @w¥mar WLEGL g usHED,
SNy &Camg HaughEb LweRSs CouanBib. LLBSEH udrasnE
Guenéled Liwe(HESe L.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ - 1/ PART -1
GOy : () Semensg HamEsEpsGL el walsseab. 20x1=20

i Qar@ésuul@erer wIPD dfoLsald Basabd gHyeLw
oerLevwd CoipEsBE8s GHULBLE el owanyn Coigs
TPH@LD.
Note : (i) Answer all the quesﬁbﬁs
(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer,

[ #mLiys / Turn over
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Ry

= T T 1 4
1. IAl=13 LOHMILD |Ad1A| = \5 ” eTafled, x -aor wdllureg) :

(=) 3 (<p) 4 (8) 2 (F) -5

X

: : 4
If |Al = 13 and |Adj Al = ’5 ol then the value of x is :

(@) 3 (b) 4 (© 2 d) -5
2. dereupeuanaupiiley erg R0 SAMEETar S liLemL 2 (HOIHDD HTE ?
(1) C=C;+5C; (<) RoR,
(®) R;—2R; +2G; () Ri—2R;—4R
Which of the following is not an elementary transformation ?
(a) C,-—»Cf-!-SCj (b) RJHRj
(<) R!-—>2Ri+2Cj (d) Ri—>2R,-—4Rj
3. k=#___ __erafled, x+y+z=2, 2x+y-z=3, 3x+2y+k=4 erarp CpAw
swaruT_ (g Cargluureng, @Cr e Srameuls QunHblméeEL.
(20) 1 ()0 (@) -4 () 4

The system of linear equations x+y+2=2, 2x+y—z=3, 3x+2y+k=4 has unique
solution, if k is not equal to :

(a) 1 (b) 0 @ -4 (d) 4

4. [(n+2)=90[(n); (n>0) erafled, n -& FULTES :

(1) 9 (<2)8 (&) 10 () "7
If [(§+2) =90 [(n) ; (n > 0), then the value of 0" is :
@ 9 W s 7 @ 10 @ 7
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TR () Vi o 4 C
(@) V1+ o' 4 C (IT) _ugi“_ + C
1+ ¢*

, x
(d) N1+ ¢ +C (b) e"'f1+ex+c

X

© Vi+e' +C (d) \/]—O—TJrC
+ e

-

y=|x| eTenib cuemaTeuanry, 0 -619951([5‘&@ 2 aueny gOUBSFHID SiTrssdlen Lyl

(=) 4 5. OGGET ()1 5.0
(@) 3 s.0E@s6T () 2 s.@@sar
Area botunded by y = |x| between the limits 0 and 2 is :

(@) 4 sq.units (b) 1 sq.unit

(c) 3 sq.units (d) 2 sq.units

Qmnid Hleane Gleewe s g MC=100vx,TC=0 wHnid Qeuafli® 0 eraficr syrafds
emry AC a8 :

200 200 17 200 3y 200
(éﬂ) 17 (é‘-_'a) - (@) = X3 () 37
3x”2 3 g 3572

The marginal cost function is MC=100 VX . Find AC, given that TC=0 when the
output is zero :
200 200 3, 200

200 _.
200 200 q =
@ =5 ® 3 3 @ 7

(53N
——
]
—
=
(V)

[ Amiys / Turn over

Kindly Send Your Study Materials & Answer Keys to Our Email ID - pﬁeagm%@b@@ﬁmﬁ&ﬁﬁner


https://www.padasalai.net/
https://www.padasalai.net/

.Padasalal. www.TrbTnpsc.com

3317 (NS) 4
| 5 g 47 ' A L
8. /9-_‘2/ e ’ﬂ'ﬁ +5 eranp uen&sEaWYT goerurl e aflemg WHML Uiy
dx dx ”
wpanGu : ¢l

()2 wpg3 ()2 wpmbd 1 (@) 3wpmbd 2 (F) 2 W0HYIO 2

ot i on 9%y _ [dy tively :
The order and degree of the differential equation  |—Z£ = |=£ 4 5 are respectuvely :
=

dx? d 1)
(@) 2and3 (b 2and1 (c) 3and?2 (d) 2and?2
9.  (3D’+D-14)y=13¢Z -en flpliys Agmens :
. 2
 (B4) xe (<) %eh (@) 13xe? Ga) %ezx
The P.I of (3D2+D-14)y=13e* is :
) | X 2x Iz. 2x
(Zl) xe=¥ 7] (b) 5 e (C) ]3_\’e2x (d) —5— e
10. A%y,=
(1) yp+y,+2y, (=) y>—2y;+y,
(8) v2+2y,-y, (F) vy +2y;+yo
A2y0=
@  ya2+y1t+2y, (b)  y,—2y;+y,
(€ ya+2y; -y, d) v +2y,+y,

11. prer @atméEg Qurmersaiar Coeamelwrang), pemm BIaTsEh&EEG wpenmGw
21, 19, 22 S@GHT 2Gb. JAeunidlen Hlapsseayser wpapGu 0.29, 0.40, 0.35
D GLD. BADE RENESG GTud 0.50 epLETESET eTailed, PG BITETE (EThES T e
erélfumréaslul L Glaruw
(<=1) 3.045, 3.8, 3.85 (<) 21, 19, 22
(@) 0.29, 0.40, 0.35 (rF)21.5 19.8, 285

Demand of products per day for three days are 21, 19, 22 and their respective
probabilities are 0.29, 0.40, 0.35. Profit per unit is 0530 paisa, then expected profits for
three days are :

(a) 3.045, 3.8, 3.85 (b) 21,19, 22

(c) 0.29, 040, 0.35 (d) 215,195, 225
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ey o,

e
3 ak 5k

erefléd, k ~Qen mgﬁluunmw
1
). = L . .
; '3 _ () 35 (@) 1w (1) Gpenpy
e Pmbablllt}’ function of 3 random variable is defined as :
X =X — [
RO e P g I
(x) k 2k 3k ik 5k
Then k is equal to :
1
g 1
(2) 4 (b) 15 (c) zero (d) one

20 2-pusdurari BWr&EL Warehens Lrpnis@E Alpsafids (Switches) 2 gzl
sWriliyseT Gepur@eretenay eren ufluiu@dpg. o Cuengude Gl maEn
50 leneSlens LIDMIEG O paefa SIBELLg0M8 2 Genpur(sdT Bmuusnharen
Pepssarang :

(=) 1.5e-1 (<) 31 (@) 2.5¢! (F) 21

A manufacturer produces switches and experiences that 2 percent swit
The probability that in a box of 50 swilches, there are at the most two defective is

(@) 1.5e~! (b) 3e~! () 2.5~ (d) 2e-1

ches are defective.

Hy : p=p, ereugme egou Hitp < py b g Corgenemer, Blens srdr
ALY «=001 @6 Gméew Gurg), oigen Erorafls@n whiy -

(1) —1.645 (24) —2.33 (@) 2.33 (/) 1.645
For testing Hy : 0= pg against H, : b < py, what is the critical value at «=0.01 ?
(a) —1.645 (b) -233 (c) 233 (d) 1.645

N jerayemer @m ppenwd Asr@Auladlmbs swamiiiy sQnE iy el
wpseanpenn @ emuy Garey deunyn Cung siga Hepsse, :
1
N o . ¢
(«:%I) ;’; (Cg'ib) N (@) N (n—) 1
In simple random sampling from a population of N units, the probability of drawing
any unit at the first draw is : 'y
1
n 1
(a) E:— b 5 © N 9. 1

[ Hmigs / Tum over
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16,

17.

18.

19.

20.

Eyeini_neug cuenglentp eremuigy :

(=21) Hy soumy erefléd erpugy (=) Hy seugy erefld wmilug)
(8) H, eaneno crafley muug () H, eanew erefld) goug
Type I error is :

(@) Accept Hy when it is false (b)  Reject H, when it is false

(€)  Reject Hy when it is true (d)  Accept Hy when it is true

T.5 Cuopnbd | du sapsoars Qardr. srobsrs Qgrflen Qumsad
Ul euenLOLILIMEn g, : '

(1) y=T+SxCx] (=) y=TxSxCxI
(&) y=T+SxC+1 (F) y=T+S+C+I
The multiplicative model of the time series with the components T, S, Cand [ is :
(@) y=T+SxCx] (b) y=TxSxCxI
(©) y=T+SxC+l (d) y=T+S+C+1

2puUsHL Qunmelen sr5ms Lréléséamiq wrmun@sdr TEHmar ?

(1)1 ()4 (@) 3 () 2

How many causes of variation will affect the quality of a product ?

(@ 1 (b) 4 (© 3 d) 2

8650 samédd aupiisd LHML CaEHALD swwrs QéoarelLmd emey -
(<21) s0&8TDDE, (<=4) swIOTES :
(@) swsérreng (F) swfleovewunnsg) :
If number of sources is not equal to number of destinations, the assignment problem is ‘
called '
(a)  unsymmetric (b) balanced

(c) symmetric (d) unbalanced

From Srefled @& 0 Sienmseflen cramasamns ang)

(1) m+n+1 -&@& soLHD () m+n-1 -&@& swid
(@) m+n+1 -&@G& swid (FF) m+n-1 -@& FLOWDHME, l
In a non-degenerate solution, number of allocations is : |
(a) Notequal to m+n+1 (b) Equalto m+n-1

(c) Equal tom+n+1 g (d) Notequal tom+n—1

i ner
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u@d - 11/ PART - 11

@iy : aCGseyn 7 ol e e @ é @ oflen_welldmab, el cram 30 -6

ST eflerLwafdaeyb, | 7x2=14

Note : Answer any 7 questions. Question no. 30 is compulsory.

21, 11 Quleinéﬂsba;m wHL 3 P unaisafian Quorgs elena T 64. Clogyb
8 Quendloser whmb 3 Pl urangaflen Gorsg ellana T 49. £ Cywhler
slflowl twatuPSS G Aueardd LoHmitb g(m fCumen ellenaenius SIS
The total cost of 11 pencils and 3 erasers is Z 64 and the total cost of 8 pencils and
3 erasers is ¥ 49. Find the cost of each pencil and each eraser by Cramer’s rule.

s v B
2. m{;\ﬁlﬂ]@a;: J'co;»lx +-,25.1n L
' , cos“x
. 2
Evaluate : J.COSZ7l +2251n L dx.
cos“x

23. y=4-x2 TaD UFEUETIWID, ¥ 34F&, x=0 wHmb v=2 erenm Caum (& @nLem
gHUBSHID SRS LFLUE &Tems.

Find the area of the region bounded by the parabola y=4 —x?, x-axis and the lines
x=0, x=2.

24, 28 aféQeogb swasg CpiGCsrl (s dsrgula amests s
ELSETUTL L MNDES.

Find the differential equation of the family of all straight lines passing through the
origin.

25. QgrLir§élume FweumiUL wrlufler LaRTL&EET Wirene ?

What are the properties of continuous random variable ?
26. FEHOUYY uredien syradl JpEUY 20 qaayb, wrgulLeTeme UL

16 eremald QameTLma, “p” HHID “n” r@en wHlLsmers ST,

The mean of Binomial distribution is 20 and variance is 16. Find “p” and “n”.

[ Hmluys / Turn over
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27, yerafllwd wigwonenifer Gran@ L@Hsmar erHEHIS.

Mention two branches of Statistical Inference.

28. Qer@ssuul L ydrallefeuphiamans Qaram@, L@Hs ermaf Gpm'mugm; 2 ]
Curég Garlor Qurmsss. "

2005 | 2006
125 135

oy@m@® | 2000 | 2001 | 2002 | 2003 | 2004
opugdh | 105 | 115 | 120 | 100 | 110

Fit a trend line by the method of semi-averages for the given data.

Year 2000 2001 2002 2003 2004 2005 2006
Production| 105 115 120 100 110 125 135

29.  QaEr@RssLuc Gerer S@flssrear o ahs eSluLE5ams
()  BeAmefen BUQUEm wHmLD
(i)  BUQumeder B&fm o fwaubenp LweruB&S sreirs.

ey Gblamasaflar laeiumr@sedr
E, E,
S, 40 60
S, 10 —20
S, —-40 150

Given the following pay-off matrix (in rupees) for three strategies and two states of

nature.
States-of-nature
Strategy
E, E,
S; 40 60
S, 10 -20
5, —40 150 i

Select a strategy using each of the following rule :~
(i) Maximin e

(i) Minimax -
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\ UFQUEneTW <BjenloliLyent i soenum’_iyenes, Qeadgmeséillen Byent
pwenuBs4)é sroms.

FolFmaena

Find.an equation of the parabolic form y=ax?+bx +c passing through (0, 0). (1 D)
and (2, 20) using Lagranges Interpolation.

= U@ - 111/ PART - I1I
GOy : aCseud 7 damésEnss oL welssan. denr aar 40 -6
sLmub eflenwefss Ceouan(ib. 7x3=21
Note : Answer any 7 questions. Question no. 40 is compulsory.
1 1 ~-1 1 -2 5
31. A=[2 -3 4| wpmpd BT =|-2 4 1| aefd
3 —28:3 3 -6 -1

?
J

AB -ulen sr&Senens smens.

1 1 =1 1 =2 5)
fFA=|2 -3 4|and BT =|-2 4 1/, then find the rank of AB.
3 -4 3 L 3 -6 -1

32, LAUIDS : I—u——l——“dx.
Jx2+6x+13

Evaluate : J- 1 dx.
Jr2+6x+13

2 2,000 erenm QsTessE OsMLiss aml By sans&d L u@Réns. aly
g panLranmég 5% Qmu9dn, 2i505mms asseer am@safd
eprbus Agrensawl Gure QmwLrstEn ? (log,2=06931)

The sum of T 2,000 is compounded continuously, the nominal rate of interest being
59% per annum. In how many years, will the amount be double the original principal ?

(log,2=0.6931)

83.
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3. Bpésan. ofeuriismens Qara® eNHulL o mlienud &Nems.

X 2 3 4 5 6
f(x) 45.0 49.2 54.1 - 67.4
From the following table, find the missing value,
X 2 3 4 5 6
f(x) 45.0 492 54.1 - 67.4

35. @O allurury gpwpHule gmeur T 2,000 Garub rlReauspsrar Hapsse
- 04 ey T 1,000 Quueu Qupeigharar Hapssey 0.6 erafld, ieursg
rliunissa, wrpur® whmb HLelwssn Garub eraar ?
In a business venture, a man can make a profit of ¥ 2,000 with a probability of 0.4 or

have a loss of T 1,000 with a probability of 0.6. What is his expected, variance and
standard deviation of profit ?

36. Quaplea Hepsse eumereumyuier FGaELD ppaTny (PSTELOL LIGRTLSEmeT
TSI

Write down any three chief characteristics of normal probability curve.

37. @@ useL 9000 wep efsluBCUTE sipear G 2 6rar eramaer 3 AV
4 %5 320 pop daLsdape. Qopwunp usor e &Ll Genip
Ndlssamnss sansd®s.

A die is thrown 9000 times and a throw of 3 or 4 is observed 3240 times. Find the
standard error of the proportion for an unbiased die.

38. @ GHUALL psrsdd 2 6rer 2 wirflevetiuerailuda LIg&(&D LD TemTeu a6 g
Gram amilG s W BrENE QUBHLIGET BSML &rme el 1l i 6w (LD -
Sreyseatledlmbg SamsdHs. '

<@ 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 | 2008 | 2009
wrameuiseaiian cramanflsans | 124 | 120 | 135 | 140 | 145 | 158 | 162 | 170 | 175

Calculate four-yearly moving averages of number of students studying in a higher
secondary school in a particular city from the following data.

Year 2001 | 2002 | 2003 | 2004 | 2005 | 2006 [ 2007 2008 | 2009 |
Number of students| 124 | 120 -| 135 | 140 | 145 | 158 | 162 170 | 175
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3. @HsE® sansfa safly aigeud sms.

Give mathematical form of Assignment Problem.

40. ydw e pusd Quirmalen efeaaarmin f(x)=(100+21%)e’, GTes. GRS X cremug)
spepudd SILAUIMT HeoLs@b prasaldan aanaflsms aeas. (psa praiG
priseie oibs Qummeflen Qs ehumenenis SIS, (e~4=0.018)

The rate of new product is given by f(x) = (100 + 213)e?, where x is the number of days
the product is on the market. Find the total sale during the first four days. (e ~1=0.018)

U@ - IV/PART - IV

Goluy : Sieneusg edlanssEns@n e wallssab. 7x5=35

Note : Answer all the questions.

1. (=) Qen@ésuuL GndHmes Gswey LHNIL eiHauml sTiysHT paonGu
C'(x) = 50 + % Hmb R'(x)=60 wrpré Qewey T 200 erafled, BLGL®
GlTUbmss Srems. -

AT

(=) Denau@n efeurhs@sdbG. Wagh dlmod GHULE oarmars
sU_Lenwssa|b. Goaib g steowrmns Gergoar, srrefl wrHmé
Cargenar pAweunempls yiss Qovub eren Blapiésayb.

. wefl panméE elaa (3) sEsaflar crarailéms
Qur(meTaer r j : : . : ;
=g UL (| By em(H|Sig iUl par®|bluy 2a&TH
A 6 10 50 56
B 2 ? 100 120
C 4 I0s 6 60 60
D 10 - 12~ 50 24
E B - - 12- 1 10 36
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rinal revenue R’(x) are given by C’(x) = 50 + :

‘(a) The marginal cost C'(x) and mary _
maximum profit.

and R'(x)=60. The fixed cost is ¥ 200, Determine the
OR

ruct Fisher’s Ideal Index and show how it satisfies

(b)  Using the following data, const ,
al Test.

Factor Reversal Test and Time Revers .
[ Price in Rupees per unit Number of units
Sy Base Year| Current Year [Base Year|Current Year
A 6 10 50 56
B 2 2 100 120
C 4 6 60 60
D 10 12 50 24
E 8 12 40 36

12. (=) em Csiedd 500 wremeauisalar srraf wWHUQueRT 40 WHMWL S
aassb 25 aafld widw 60% wramaursar Qumb wHUCuaTSafldn
Thmasamets arans. [P0 < z < 0.84)=0.30] g

D{ VLS

(=) Gemeumbd elleugrasafledmibg) f(x) -ar ey, Hluyl L afler WpenGrras,
Qen §Csmadlen G5dlrsmsl LwaLOEHS sreTs. a

>4 0 1 2 3
f(x) 2 4 8 20

(a) The mean score of 500 students for an examination is 40 andS.Di
i F « d s 'D is 25 D t 5
the limit of the marks of the central 60% of the candidates. [P(0<z< 0.82)2%11;;)?

OR

ie

(b) Using Newton’s forward interpolation formula, find f'(x) from the following tabl
e.

x 0 d 2 3
f(x) 2 4 8 20
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(1) @0 EILOLL @i@wvmeanid G prafld aApm AP bo Qg x -cor

.é’ifﬂTGua;eiT (o1 veyaBsalld) Gep erem @b FLOGUTUILIL Blapasmad;
saTLPULLLLE). Sisan Hapaserang), /(1) aap Blepssel AL H)&
sridar o QeTEEILC Parars) arafl, L
[ B 0= x<10
" f (x) = JA(20—x), 10=sxy<20
1 0,  wpEmhdaib

(i) A -@Qeér wdueus srers.

i)  woprafld epsiuelmeen Qprigsaflern eraranfsmaude
(1) 10 Ly PaHEREES iHawrs A
(<) 10 ueyET s EREES Gapeurs
(@) 5 vpow 15 Ly@THaERsE @oLuld Gmuushsmea

Bapsseiamans sramrs. L
S| 60605 L
LHMID ‘b @eT eTbwHIYEEEEE x+y+z=6; x+2y+32=10,
r+2y+az=b eTenm &FwaTLTHSEET :
(i) obs Srayd Qupblyrs
(i) @Cr ¢m Sreneu QUDHNHEESEL
(ili) eraverilGensunn Srajsmaers QUOHB(HEGLD eTe g, Fmiis.

The amount of bread (in hundreds of pounds) x that a certain bakery is able to
sell in a day is found to be a numerical valued random phenomenon, with a

probability function specified by the probability density function f(x) is given by,

¢ Ax, for 0=x<10
f(x) = {A(20—x), for 10=x<20
0, otherwise

(i)  Find the value of A.
(i) What is the probability that the number of pounds of bread that will be sold

tomorrow is :
(a) More than 10 pounds,
(b) Less than 10 pounds, and

(c) Between 5 and 15 pounds ?
OR
Investigate for what values of ‘a’ and ‘b’ the following system of equations

xr+y+z=6, x+2y+3z=1Q, x+2y+az=>b have,

(i)  no solution,
(i) a unique solution,
(iii) an infinite number of solutions.

[ HpLiLys / Tumn over
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4“4, () LD;QILILQ@BS: J' B dx .
A d — 3y ~ 2
S|V
(@) x sreafsear gunfiiugnsren Gnflbleaws Caaa) (3xy + y?) dx
wppid @m Cgmg sreafsdr gurfliugparea Corss (elg s
Qurss QFweys arremus SIS,

(x2 4 x) dy=0
i 212 areamlen,

X .
(a) Evaluate : J-?J_.; P g~ dx,

OR

(b)  If the marginal cost of producing x shoes is given by (3xy +y?) dx + (12. + x1y) dy':"r(:
and the total cost of producing a pair of shoes is given by ¥ 12, then find the tota
cost function.

[

45. (=) Qer@ssuul Beter CUTEGTEE Samsan 2, rbu S LUeLd STane
Sp&aaTL opseild) &rans.

I it 11 IV sefloy
A 5 3 34
B 3 5 4 15
C 6 3 12

P 4 1 4 5 19

Comau 21 25 1% 17

(i) euL CuhE apame (peom
(i) B&dmy Ceewsy Wpem
(i) Geurselan Cymymu wpenm
{6060
(<) Quaflow urada e @n Gsrfipsten eaf wisefd
sardluiigaflen wrmLlLeTaneu 25 erens. 50 wenflumeniser Qamagp 2
afléd e arereuisafien Guwrss eGuib 22,550 erens. 55 Camer, =52

creTUeE LD ASDEG WLTDTar SmECHTET k=49 -emwun 1% Oenga et
Hlanauier Cergenar Qewis.
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: S : . . ; ~nsportation problem.
(@)  Find the initial basic {easible solution of the following transpor 22 .

[ Il I IV Supply
A 5 [ 3 3| M
B 3 3 5 4 | 15
C 6 4 4 2 12
& D : 1 4 5 19
3 Demand 21 25 17 17
k. Using (i)  North west corner rule
E (i)  Least cost method
3‘ | (iii) Vogel's approximation method
B OR . o L
b (b)  Wages of the factory workers are assumed (o be normally distributed with variance
g 25. A random sample of 50 workers gives the total wages equal to
¥ 2,550. Test the hypothesis p=52, againsl the alternative hypothesis =49 at
% level of significance. ‘ ;
a6 () cuedWmSS Qg,rrsms;uﬁn'_ml_ @ &l Lblen Tiame erend & menr ()
; : UL
§ 2
B J(2x? - 4)dx.
1
: 3|60V G
(<) Ban fené@aer 2 puss GeuuuB Qawdurliged g WweflsE @b
! efleré s eSsib 6 Wen cllatdGser a@ssru@Harmer. GEsGUTED 6 samsar
] c@ssuL@Hapan. e 6Sla Fm &ar Sjeum e Lwerur (Hé
{ o
srajms (wallld) @hsddaper eafld X LOHMIL R LILEI&ET auenyhg
g PO (MHBF 2 (LPig-6|EHEDETE GHLADS.
{‘- : = |&am erem Lwerur_® sred (anfludled)
B 1 620 | 687 | 666 | 689 | 738 | 686
e 2 501 585 | 524 | 585 653 668
: 3 673 | 701 | 686 | 567 | 619 | 660
i 4 616 | 626 | 572 | 628 | 631 | 743
= 5 494 684 659 643 660 640
. 6 631 | 755 | 625 | 582 | 683 | 555
. | (n=6 erafléd, A,=0483, D;=0, D;=2.004 erenr QarH&HELILL ([HeTars)
B c Y, 2
g (a) Evaluate the integral as the limit of a sum 1(21-3 ~4)dx.
& HY 2D 1'

OR 2
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(b} The following data relate to the life (in hours) of 6 electric bulbs cach drawn at an

interval of one hour from a production process. Draw the cantrol chart for X
and R, and comment.

Sample No. , Life time (in hours)
1 620 687 666 689 738 686
2 . 501 585 524 585 653 668
3 673 701 686 567 619 66(0)
4 646 626 972 628 631 743
5 194 684 659 643 660 640
6 634 755 625 582 683 555

(Given for n=6, A,=0.483, D;=0, D;=2.004)

2
47. (=) Q4 =29-2p— 5%% i d{—g wHmb Q,=5+4p eranuen WdPGW G
C dl .

Qurmafier CGgameu etey WHMD eflly SjaTey pdlwaunans
ehsdanar. @ug p dmawmws Ghsdpg. sbamg uflorhns sl
swantlenad edllenaeaid STeTs.
EYLMATY
(=) @m HneasHne sroma 10.00 wafluder Gmbg wHwb 2.30 werfl ciany
aumb OsraaGud smplysaia aaraisms srrefwrs
AELEEDEG 25 @D ¢ GHUTCL Hlfl gl
(i)  SWULSsE Gdene
(i) &flwrs 3 SiePULSEET WL (HD
(il) GODHSULSED 5 SMPLUILGET auheughstar Hlapssaienar srers.
(e~2>=0.08208) '
dp | d?
"t w
quantity supplied Q,=5+4p, where ‘p’ is the price. Find the equilibrium price
for market clearance.

(a) Suppose that the quantity demanded Qg4 =29- 2p—- 5 and

OR
(b) The average number of phone calls per minute into the switch board of a company
between 10.00 a.m. and 2.30 p.m. is 2.5. Find the probability that during one
particular minute there will be,
(i) no phone at all,
(i) exactly 3 calls,
(iii) at least 5 calls.
(e ~23=10.08208)

-00o0-
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